	Inward No. 28.95 Page no.:/
- t	Date:/8/7/29 Date:
•	File No.:
	TU13 TO
	To Gaziui 3 Ta
	The Paincipel,
	Ismail Yusuf Collage 15/071
	Jogeshwazi [E]
	Mumbai
	Dete -3 15-07-2022
•	Sub - 3 Application for Transfar
	Cestificate [Tc].
	Respected Six / Madam,
	I. Amey Eknoth Gigam Waiting
	this letter to request my Transfer
	Cestificate. I have secently passed
	out my. T. Y Broom class. Now i want to go for Higher Studies, for that
	to go for Higher Studies, for that
	I need my Transfer Certificate.
	So please issue earliest
	my TC, I shell be thankful to you.
	11 The also - Van II
	!! Thanking You!!
	Amer Eknoth Woom
	far Sincerely
	15/07/22

UNIVERSITY OF MUMBAI

Institute of Distance and Open Learning

Dr. Shankar Dayal Sharma Bhavan,

Vidyanagari, Santacruz (east), Mumbai-400098

Application for Transference Certificate from the last attended College / University Department

From:

Shri / Smt. /Kum. .

GIJAM (Surname)

AMEY

EKNATH

College Code: 279 ANKITA

Residential address of the

(Own Name)

(Father's/Husband's Name)

(Mother's Name)

Sai Krupa Chawl, Kunj Niwas Compound, Bandivali Hill Road, Jogeshwari West, , 0, Andheri, Mumbai Suburban, Mumbai, Maharashtra

student:

Pincode: 400102

Contact no. 8419946438

To,

The principal / head of the University Dept

(Full Name and Address of the last attended College / University Dept.): ISMAIL YUSUF COLLEGE,

Jogeshwari East, Mumbai

Sir / Madam.

I am to state that I have taken provisional admission to the M.Com. Part I CBCS class in Institute of Distance and Open Learning of the University of Mumbai on the basis of the No Objection Certificate dated Issued to me by the College / University Dept.

I attended the B.Com Class (Roll No. 1062732) during the First/Second Terms of the Academic year 2021-2022 at your College and (passed/failed/was awarded A.T.K.T.) at the examination held by the University Dept. / College in June 2022 Examination (Seat No. 1062732)

I am enclosing the attested Xerox copy of the mark-sheets of the above mentioned examination/s.

l am to request to sent my Transference Certificate directly to the Director, Institute of Distance and Open Learning, University of Mumbai,

Thanking You,



Verified by

Yours obediently

Date:

Ybehan

Signature)

Document printed on Wed Jul 13 2022 13:02:19 GMT+0530 (India Standard Time)



महाराष्ट्र, शासन



Jim Haivin

प्रमाणित करण्यात येते आहे की, खालील माहिती गाव प्रस्डा / वस्ती † वस्ती †
राजा / नहाज्यम्सालिकः पीराक्रिक विश्वनिका पालुका राजापूर्
पाजलविक्षा चार्यापूर
विष्टा र व्याप्ति ने येथीत जनाच्या मूळ अभिलेखाच्या नोंदवहीत्न घेण्यात
ાજારો માના ત્રાપાલ માના માના માના માના માના માના માના મા
अस्ति । अस्ति । अस्ति । अस्ति। अस्ति। अस्ति।
हिंदा (स्वी ; पुरुष) <u>पुरुष प</u>
(3,3)
जल दिनांक <u>39/८/2०००</u> नोंदणी दिनांक <u>93/८/2०००</u> नोंदणी क्रगांक <u>9</u>
जनाई विकाण रिशिक्षेटास्त्री
(e) (3) (o) ((g))
गाव / इत्र गंदा १३ त्वर हा तालुका राजापूर जिल्हा रताशिरी
आईच नाउ रहें। उर्गिकता उक्तगाथ विज्ञान
(371901) Gehor124 12/3727
गहिलांचे संपूर्ण नाय उद्गिरिट उन्हरूर १८१ स्वीकर अन्तरम
आहें / विद्याचा करामचा एक कि
आहं / विहिलाचा कायमचा पत्ता (शिधापत्रिकेनुसार) मुर पार द्याक्रकवहरी
(7) - 4 (7) (2) (3) (3) (3) (3)
गाव / झहर दिगाङक टाह्मी तालुका राजापूर जिल्हा रत्नाभिरी
पाउत्काराह्य राजापूर जिल्हा रलाहिन
आई विद्याचे राष्ट्रीयत्व अग्रेमतिय
Q S Sale
(४ (वर्गावर पर)) के प्राधिकारी नाव (सहीर मी
बिंचिक् अस्ति । ध. उत्परत्वी
निसंद्र जुन्म ग्रुप्तागर
दिनांक <u>96/90/2000</u> पता
आधारीत
9) 17-97 20160

- जन्य आणि मृत्यु नोंदणी अधिनियम १९६९ च्या कलन १२ व १७ अन्वये. महाराष्ट्र जन्म आणि मृत्यु नोंदणी नियम, १९७६ मधील नियम ९ नुसार, नमुना क्र. ९ अन्वये

जन्माची नोंद वेळेबर करा ते आपल्या हिताचे आहे.





University of Mumbai

ISMAIL YUSUF COLLEGE





Student Id 1990283

GRADE CARD

Examination Seat No. 97 Course Title CY AND FINANCIAL MANAGEMEN I (BUSINESS DEVELOPMENT)		Course Credits	Name of the L JAM AMEY EKNA TH/PR	or in Politica control of the contro	1		GULAR OC	of Examin	
Course Title CY AND FINANCIAL MANAGEMEN	VT - I	Course Credits		Grade	1	Credits	Grade	1	
CY AND FINANCIAL MANAGEMEN	VT - I	Credits	TH/PR	 				CG=	SGPI=
CY AND FINANCIAL MANAGEMEN	NT - I		TH/PR	ΙΔ	1	- Farned			
	NT - I				OVERALL	(C)	Points (G)	CxG	ΣCG /
L'ALISINESS DEVELOPMENT)		3.00	A		A	3.00	8	24.00	
(BOOMEGO BEVELOFMENT)	and and	3.00	. В	1-4-19	В	3.00	6	18.00	
CONOMICS - I		3.00	At	7 1-1	A+	3.00	9	27.00	
DMMUNICATION - I		3.00	A.	/	Α .		 	. ,	7.70
ITAL STUDIES - I		3.00	B+						7.70
AL AND STATISTICAL TECHNIQUI	ES-I	3.00					 		
COURSE - I	100	2.00	A	o					
		20.00 Earned Credits : 20.00						ΣCG= 154.00	SGPI= 7.70
IC/ON	ENTAL STUDIES - I ICAL AND STATISTICAL TECHNIQUEN COURSE - I IL SEMESTER II	ENTAL STUDIES - I ICAL AND STATISTICAL TECHNIQUES - I IN COURSE - I IL SEMESTER II	SEMESTER II S.00 S.00 S.00 SEMESTER II S.00 S.00	SEMESTER II SEMESTER III SEMES	SEMESTER II SEMESTER III SEMES	SEMESTER II SEMESTER III SEMESTER III SEMESTER IV SEMESTER IV	SEMESTER II SEMESTER II SEMESTER III SEMESTER IV SEMESTER IV	SEMESTER II SEMESTER III SEMESTER IV Oxfort Colors Col	SEMESTER II SEMESTER III SEMESTER IV SUppose Condo of the co

Place: Mumbai

Date: 27/11/2019

Checked By:

Chairperson, Exam. Committee

Seal of the College

SGPI =

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



University of Mumbai

ISMAIL YUSUF COLLEGE





Student Id 1990283

GRADE CARD

PROGRAMME	: BACHELOR OF CO	OMMERCE						SEMES	TER : II	90283		
PRN	I/Reg. No.	Examination Seat No.		Name of the L	earner		Month & Year of Examination					
201901	6400991744	97	GI	IAM AMEY EKNA	REGULAR MARCH 2020							
Course		Course Title	Course		Grade	Credits	Grade	CG=	SGPI=			
Code			Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG /		
UBCOMFSII.1	ACCOUNTANCY A	ND FINANCIAL MANAGEMENT - II	3.00	· Marcel of Street		A	3.00	8	24.00			
UBCOMFSII.2	COMMERCE - I (BU	JSINESS DEVELOPMENT)	3.00	B		В	3.00			1		
UBCOMFSII.3	BUSINESS COMMU	UNICATION - II	3.00	A				6	18.00			
UBCOMFSII.4	BUSINESS ECONO	OMICS - II	3.00	0		A	3.00	8	24.00	\$1 \$1		
UBCOMFSII.5	ENVIRONMENTAL	STUDIES - II	9 (69) 945 V A AMB	TOP TO THE STATE OF THE STATE O	1,477	0	3.00	10	30.00	7.85		
UBCOMFSII.6		ND STATISTICAL TECHNIQUES - II	3.00	B+	7	B+	3.00	7	21.00	114		
		11.42	3.00	A		Α	3.00	8	24.00			
UBCOMFSII.7	FOUNDATION COU	JRSE - II	2.00	A	0	A	2.00	8	16.00			
	UCCESSFUL		20.00	E	arned Credit	s : 20.00	1 8815		ΣCG= 157.00	SGPI= 7.85		
edits Earned = 2			SEN 7.85 Credits Earned	MESTER III SGPI	= Credits Ear	SEMESTER IV	SGPI =					
SEM edits Earned =	IESTER V SGPI =	SEMESTER VI - Credits Earned = SGPI =	- Santa	Charles to Many Walls				Overall	Grade =	B+		

Place : Mumbai

Date: 20/07/2020

Checked By:

Chairperson, Exam. Committee

SOUTH STATE OF THE STATE OF THE

Seal of the College

Soverhal

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: 0.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



University of Mumbai **ISMAIL YUSUF COLLEGE**



(Affiliated to University of Mumbai) JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

Student Id 1990283

GRADE CARD

PROGRAMME :	BACHELOR OF CO		SEMESTER : III									
PRN	/Reg. No.	Examination Seat No.			Name of the L	earner	Month & Year of Examination					
201901	6400991744	20SC 74		GIJA	M AMEY EKNA	TH ANKITA	REG	ULAR DEC	CEMBER 2	:020		
					Course Grade							
Course Code		Course Title		Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	CxG	ΣCG / ΣC	
UBCOMSSIII.1	ACCOUNTANCY A	AND FINANCIAL MANAGEMENT	- 111	3.00	A+		0	3.00	10	30.00	98	
UBCOMSSIII.2	FINANCIAL ACCO	UNTING & AUDITING -I	£.	3.00	o O		0	3.00	10	30.00		
UBCOMSSIII.3	COMMERCE - III		1	3.00	0		0	3.00	10	30.00		
UBCOMSSIII.4	BUSINESS ECON	OMICS - III	-1	3.00	0	# i	0	3.00	10	30.00	10.00	
UBCOMSSIII.5	BUSINESS LAW -	III .		3.00	0	40	0	3.00	10	30.00		
UBCOMSSIII.6	ADVERTISING			3.00	Ö		0	3.00	10	30.00		
UBCOMSSIII.7	FOUNDATION CO	URSE - III	1.50	2.00	- On-	· · · · c	0	2.00	10	20.00		
	SUCCESSFUL			20.00	a =1	arned Cre	dits : 20.00			ΣCG= 200.00	SGPI= 10.00	
	MESTER I	GPI = 7.85 C	SEN redits Earned =	NESTER III 20.00 SGPI	= 10.00 Credits	SGPI =	Overall	II Grade = O				
	MESTER V	SEMESTER VI Credits Earned =	SGPI =	parties of propagations					Overall Grade = 0			



Place : Mumbai

Date: 15/02/2021

Chairperson, Exam. Committee



Seal of the College

Principal

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female

(Refer to grade table at the back)



University of Mumbai

ISMAIL YUSUF COLLEGE



Student Id 1990283

(Affiliated to University of Mumbai)

JOGESHWARI STATION ROAD, JOGESHWARI - EAST, MUMBAI - 400 060

GRADE CARD

PROGRAMME	: BACHELOR OF CO	MMERCE					1		19	90283
		THE PARTY OF THE P						SEMES	TER : IV	
PRN	I/Reg. No.	Examination Seat No.		Name of the L	Month & Year of Examination REGULAR APRIL 2021					
201901	16400991744	20SC 74	GIJ	AM AMEY EKNA						
Course		Course Title	Course		Grade		Credits	Grade	CG=	SGPI=
Code		Credits	TH/PR	IA	OVERALL	Earned (C)	Points (G)	C×G	ΣCG / ΣC	
UBCOMSSIV.1	ACCOUNTANCY AN	ID FINANCIAL MANAGEMENT - IV	3.00	В		В	3.00	6	18.00	
UBCOMFSIV.2	FINANCIAL ACCOU	NTING & AUDITING-II	3.00	A		Α	3.00	8	24.00	
UBĊOMFSIV.3	COMMERCE-IV I		3.00	0		0	3.00	10	30.00	
UBCOMFSIV.4	BUSINESS ECONOM	MICS - IV	3.00	A+		A+	3.00	9	27.00	8.85
UBCOMFSIV.5	BUSINESS LAW - II		3.00	0		0	3.00	10	30.00	0.05
UBCOMFSIV.6	ADVERTISING- II		3.00	o		0	3.00	10	30.00	
UBCOMFSIV.7	FOUNDATION COUP	RSE - IV	2.00	A+	В	A+	2.00	9	18.00	
Remarks : S	SUCCESSFUL		20.00	E	arned Credi	- !			ΣCG= 177.00	SGPI= 8.85
SEN Credits Earned = 2	MESTER I 20.00 SGPI = 7.70	SEMESTER II Credits Earned = 20.00 SGPI	SEM = 7.85 Credits Earned =	ESTER III 20.00 SGPI =	10.00 Credits Ea	SEMESTER IV	SGPI = 8.85			
SEN	IESTER V	SEMESTER VI				20.1 - 0.03	A			



Credits Earned = ---

Place : Mumbai

Date: 29/04/2021

Checked By:

my bhats

SGPI = ---

Chairperson, Exam. Committee



Seal of the College

Marchel

Principal

(Refer to grade table at the back)

F: Head of Failure, AB: Absent, ---: Not Applicable, @: 5043, #: O.229, \$: Carried Forward, /: Female

SGPI = --- Credits Earned = ---



University of Mumbai GRADE CARD

CCF:0086:0068

Name

: GIJAM AMEY EKNATH ANKITA

Examination

: Third Year B.Com. (Semester-V)(CBCS)

Held In

: NOVEMBER 2021

Seat Number

: 4112867 (PRN:2019016400991744)



Course Code	Course Title	Maximum Marks	Minimum Marks	Marks Obtained	Credits (C)	Grade	Grade Points (G)	CxG
23114	Commerce-V	100	40	80	3.00	0	10	30.00
23113	Business Economics-V	100	40	96	3,00	0	10	30.00
23101	23101 Financial Accounting & Auditing VII Financial Accounting		40	62	4.00	A	8	32.00
23107	Financial Accounting & Auditing VIII- Cost Accounting	100	40	82	4.00	0	10	40.00
23115	Direct & Indirect Taxation Paper -I	100	40	84	3.00	0	10	30.00
23116	Export Marketing Paper-I	100	40	96	3.00	0	10	30.00
	GRAND TOTAL	600		500	20.00	in and the		192.00

Remark: SUCCESSFUL

SGPI: 9.60

Result Declared On : FEBRUARY 05, 2022

DIRECTOR

BOARD OF EXAMINATIONS AND EVALUATION



← Find...

/GHO	SAL															SEM-1	, ;	0.33	;	SE	₩- V	. ,	40 ;	C	GPI :	6.68	00.08
				NI'	TIN 9 A	SHWE	ETA 3 27	58 58	7	B+	4 28	68 68	(2 8	A	4 .	32 98	10	O	3 30	84	10	0	3 30	20	177	8.85	and Commerce 464
	EM-	: 	8.60	; 		SEM	1-11 :	8.6	0;		SEM-I	II :	9.	55 ;		SEM-IV	· :	7.95	;	SE	M-V, :	8.	85 ;	CC	GPI :	8.73	
											(5 (500))			•		100	10	U	3 30	20	10	O	3 30	20	193	9.65	and Commerce 532
	EM-1	:	6.40	;		SEM	-II :	6.8	0 ;		SEM-I	ıı:	9.8	35 ;		SEM-IV	:	8.50	;	SEN	4-V :	9.	50 ;	CG	SPI:	8.45	
			, 0			A 3	30	70 70	9	A+	4 36	74 74	(20 9	A+	4 3	6 98	10	0	3 30	96	10	0	3 30	20	192	9.60	
S	EM-I	:	7.70	;		SEM	-II :	7.8	5 ;		SEM-I	: I	10.0	0 ;		SEM-IV	:	8.85	;	SEM	i-V :	9.	60 ;	ÇG	PI:	8.93	
GOD	SE G	EETA 3 27	NJALI 72 72	SUB	HAS	H RA + 3	JASHR 27	EE 68 68	8	A	4 32	66 66	(20	1901 A	640	0991895 74 2 74	9	A+	3 27	88 88	86	Ism	ail Yusu	f Ar P 20	ts Sc 175	ience 8.75	and Commerce
s	EM-I	:	5.80	:		SEM	-II :	6.7	0;		SEM-II	: I	9.4	0 ;		SEM-IV	:	8.05	;	SEM	-v :	8.	65 ;	CG	PI:	7.89	
ED;	ADC:	: ADI	MISSIC e 80	ON C.	ANCE 70	ELLEI	D; C:	CRED:	IT E	POINT	S; G:	GRADI	E PO	INTS	; GI	PA: GRAI	DE P	C: O.	5050; AVERA	RPV GE=S	: PRO	OVIS:	IONAL; N G / SUM	ULL: OF C	NULI	& VOI	D.;
	GGU SGOD SGOD SSGOD;	SEM-1 GHULE G 10 O SEM-1 GIJAM A 10 O SEM-I GODSE G 9 A+ SEM-I :0.5042 70%-8.1 ED; ADC	SEM-I: GHULE GAURA 10 0 3 30 SEM-I: GIJAM AMEY 10 0 3 30 SEM-I: GODSE GEETA 9 A+ 3 27 SEM-I: ::0.5042A/O.: 70%-8.14; ~ ED; ADC: ADC: CO; ADC: ADO: CO; ADC: CO; ADC	SEM-I: 8.60 GHULE GAURAV PRA 74 10 0 3 30 74 SEM-I: 6.40 GIJAM AMEY EKNAT 78 10 0 3 30 78 SEM-I: 7.70 GODSE GEETANJALI 72 9 A+ 3 27 72 SEM-I: 5.80 :0.5042A/0.5043A/ 70%-8.14; ~: Dysi ED; ADC: ADMISSIC : Above 80	SEM-I: 8.60; GHULE GAURAV PRAKASI 74 10 0 3 30 74 9 SEM-I: 6.40; GIJAM AMEY EKNATH AN 78 10 0 3 30 78@2 1 SEM-I: 7.70; GODSE GEETANJALI SUB 72 9 A+ 3 27 72 9 SEM-I: 5.80; :0.5042A/O.5043A/O.5 70%-8.14; ~: Dyslexi ED; ADC: ADMISSION C : Above 80	SEM-I : 8.60 ; GHULE GAURAV PRAKASH PR 74 10 0 3 30 74 9 A SEM-I : 6.40 ; GIJAM AMEY EKNATH ANKIT 78 10 0 3 30 78@2 10 0 SEM-I : 7.70 ; GODSE GEETANJALI SUBHAS 72 9 A+ 3 27 72 9 A SEM-I : 5.80 ; :0.5042A/0.5043A/0.50444 70%-8.14; ~: Dyslexia; - ED; ADC: ADMISSION CANCE : Above 80 76	SEM-I : 8.60 ; SEM GHULE GAURAV PRAKASH PRITI 74 10 0 3 30 74 9 A+ 3 SEM-I : 6.40 ; SEM GIJAM AMEY EKNATH ANKITA 78 10 0 3 30 78@2 10 0 3 SEM-I : 7.70 ; SEM GODSE GEETANJALI SUBHASH RA 72 9 A+ 3 27 72 9 A+ 3 SEM-I : 5.80 ; SEM :0.5042A/0.5043A/0.5044A; * 70%-8.14; ~: Dyslexia; +: MED; ADC: ADMISSION CANCELLEI : Above 80 70-79	SEM-I: 8.60; SEM-II: GHULE GAURAV PRAKASH PRITI 74 10 0 3 30 74 9 A+ 3 27 SEM-I: 6.40; SEM-II: GIJAM AMEY EKNATH ANKITA 78 10 0 3 30 78@2 10 0 3 30 SEM-I: 7.70; SEM-II: GODSE GEETANJALI SUBHASH RAJASHR 72 9 A+ 3 27 72 9 A+ 3 27 SEM-I: 5.80; SEM-II: :0.5042A/0.5043A/0.5044A; *:0.50 70%-8.14; ~: Dyslexia; +: MARKS (ED; ADC: ADMISSION CANCELLED; C: : Above 80 70-79.99	SEM-I: 8.60; SEM-II: 8.60 GHULE GAURAV PRAKASH PRITI 74 10 0 3 30 74 9 A+ 3 27 74 SEM-I: 6.40; SEM-II: 6.80 GIJAM AMEY EKNATH ANKITA 78 10 0 3 30 78@2 10 0 3 30 70 SEM-I: 7.70; SEM-II: 7.80 GODSE GEETANJALI SUBHASH RAJASHREE 72 9 A+ 3 27 72 9 A+ 3 27 68 SEM-I: 5.80; SEM-II: 6.70 CO.5042A/O.5043A/O.5044A; *:O.5045A; 70%-8.14; ~: Dyslexia; +: MARKS CARRIFEED; ADC: ADMISSION CANCELLED; C: CRED: C. CRED: C. ADMISSION CANCELLED; C: CRED: C. CRED: C. ADMISSION CANCELLED; C: CRED: C.	SEM-I: 8.60; SEM-II: 8.60; GHULE GAURAV PRAKASH PRITI 74 10 0 3 30 74 9 A+ 3 27 74 9 SEM-I: 6.40; SEM-II: 6.80; GIJAM AMEY EKNATH ANKITA 78 10 0 3 30 78@2 10 0 3 30 70 9 SEM-I: 7.70; SEM-II: 7.85; GODSE GEETANJALI SUBHASH RAJASHREE 72 9 A+ 3 27 72 9 A+ 3 27 68 8 SEM-I: 5.80; SEM-II: 6.70; CO.5042A/O.5043A/O.5044A; *:0.5045A; /:FE 70%-8.14; ~: Dyslexia; +: MARKS CARRIED FE ED; ADC: ADMISSION CANCELLED; C: CREDIT FE ED; ADOVE 80 70-79.99 60-69	SEM-I: 8.60; SEM-II: 8.60; GHULE GAURAV PRAKASH PRITI 74 10 0 3 30 74 9 A+ 3 27 74 9 A+ SEM-I: 6.40; SEM-II: 6.80; GIJAM AMEY EKNATH ANKITA 78 10 0 3 30 78@2 10 0 3 30 70 9 A+ SEM-I: 7.70; SEM-II: 7.85; GODSE GEETANJALI SUBHASH RAJASHREE 72 9 A+ 3 27 72 9 A+ 3 27 68 8 A SEM-I: 5.80; SEM-II: 6.70; CO.5042A/O.5043A/O.5044A; *:O.5045A; /:FEMALE 70%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWA ED; ADC: ADMISSION CANCELLED; C: CREDIT POINT : Above 80 70-79.99 60-69.99	SEM-I: 8.60; SEM-II: 8.60; SEM-I GHULE GAURAV PRAKASH PRITI 74 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 SEM-I: 6.40; SEM-II: 6.80; SEM-I GIJAM AMEY EKNATH ANKITA 78 70 10 0 3 30 78@2 10 0 3 30 70 9 A+ 4 36 SEM-I: 7.70; SEM-II: 7.85; SEM-II: GODSE GEETANJALI SUBHASH RAJASHREE 72 9 A+ 3 27 72 9 A+ 3 27 68 8 A 4 32 SEM-I: 5.80; SEM-II: 6.70; SEM-II: :0.5042A/O.5043A/O.5044A; *:0.5045A; /:FEMALE; AA/A 70%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWARD; \$: ED; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: : Above 80 70-79.99 60-69.99	SEM-I: 8.60; SEM-II: 8.60; SEM-III: GHULE GAURAV PRAKASH PRITI 74 74 74 74 74 74 74 74 74 7	SEM-I: 8.60; SEM-II: 8.60; SEM-III: 9.5 GHULE GAURAV PRAKASH PRITI 74 74 74 74 74 74 88 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 SEM-I: 6.40; SEM-II: 6.80; SEM-III: 9.8 GIJAM AMEY EKNATH ANKITA 78 70 74 10 0 3 30 78@2 10 0 3 30 70 9 A+ 4 36 74 9 SEM-I: 7.70; SEM-II: 7.85; SEM-III: 10.0 GODSE GEETANJALI SUBHASH RAJASHREE 72 68 66 9 A+ 3 27 72 9 A+ 3 27 68 8 A 4 32 66 8 SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.4 CO.5042A/O.5043A/O.5044A; *:O.5045A; /:FEMALE; AA/ABS: ABSE 70%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWARD; \$: GRADE CO.50; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE PO.50 ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE PO.50 ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE PO.50 ADC: ADOVE 80 70-79.99 60-69.99	SEM-I: 8.60; SEM-II: 8.60; SEM-III: 9.55; GHULE GAURAV PRAKASH PRITI 74 74 74 88 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 SEM-I: 6.40; SEM-II: 6.80; SEM-III: 9.85; GIJAM AMEY EKNATH ANKITA 78 70 74 10 0 3 30 78@2 10 0 3 30 70 9 A+ 4 36 74 9 A+ SEM-I: 7.70; SEM-II: 7.85; SEM-III: 10.00; GODSE GEETANJALI SUBHASH RAJASHREE (201901 72 68 66 9 A+ 3 27 72 9 A+ 3 27 68 8 A 4 32 66 8 A SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; CO.5042A/O.5043A/O.5044A; *:O.5045A; /:FEMALE; AA/ABS: ABSENT; 70%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWARD; \$: GRADE CARRIED FORWARD; \$: GRADE CARRIED; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE POINTS: Above 80 70-79.99 60-69.99 55-59.90	SEM-I: 8.60; SEM-II: 8.60; SEM-III: 9.55; GHULE GAURAV PRAKASH PRITI 74 74 74 74 88 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 4 4 SEM-I: 6.40; SEM-II: 6.80; SEM-III: 9.85; GIJAM AMEY EKNATH ANKITA 78 70 74 10 0 3 30 78@2 10 0 3 30 70 9 A+ 4 36 74 9 A+ 4 3 SEM-I: 7.70; SEM-II: 7.85; SEM-III: 10.00; GODSE GEETANJALI SUBHASH RAJASHREE (201901640 72 68 66 9 A+ 3 27 72 9 A+ 3 27 68 8 A 4 32 66 8 A 4 3 SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; CO.5042A/O.5043A/O.5044A; *:O.5045A; /:FEMALE; AA/ABS: ABSENT; P: 170%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWARD; \$: GRADE POINTS; GISADOV 80 70-79.99 60-69.99	SEM-I: 8.60; SEM-II: 8.60; SEM-III: 9.55; SEM-IV GHULE GAURAV PRAKASH PRITI 74 74 74 74 88 100 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 4 40 100 SEM-I: 6.40; SEM-II: 6.80; SEM-III: 9.85; SEM-IV GIJAM AMEY EKNATH ANKITA 78 70 74 98 10 0 3 30 78@2 10 0 3 30 70 9 A+ 4 36 74 9 A+ 4 36 98 SEM-I: 7.70; SEM-II: 7.85; SEM-III: 10.00; SEM-IV GODSE GEETANJALI SUBHASH RAJASHREE 72 68 68 66 74 SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV CO.5042A/O.5043A/O.5044A; *:O.5045A; /:FEMALE; AA/ABS: ABSENT; P: PASSES; 70%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWARD; \$: GRADE POINTS; GPA: GRAIE CARRIED FORWARD; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE POINTS; GPA: GRAIE CARRIED FORWARD; ADC: ADD(**) ADC: ADC: ADC: ADC: ADC: ADC: ADC: ADC:	SEM-I : 8.60 ; SEM-II : 8.60 ; SEM-III : 9.55 ; SEM-IV : GHULE GAURAV PRAKASH PRITI (2019016400992651) 74 74 88 100 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 4 40 100 10 SEM-I : 6.40 ; SEM-II : 6.80 ; SEM-III : 9.85 ; SEM-IV : GIJAM AMEY EKNATH ANKITA (2019016400991744) 78 70 74 98 10 0 3 30 78@2 10 0 3 30 70 9 A+ 4 36 74 9 A+ 4 36 98 10 SEM-I : 7.70 ; SEM-II : 7.85 ; SEM-III : 10.00 ; SEM-IV : GODSE GEETANJALI SUBHASH RAJASHREE (2019016400991895) 72 68 66 74 9 A+ 3 27 72 9 A+ 3 27 68 8 A 4 32 66 8 A 4 32 74 9 SEM-I : 5.80 ; SEM-II : 6.70 ; SEM-III : 9.40 ; SEM-IV : CO.5042A/O.5043A/O.5044A; *:O.5045A; /:FEMALE; AA/ABS: ABSENT; P: PASSES; F: 70%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWARD; \$: GRADE CARRIED FORWARD; RC ED; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE POINTS; GPA: GRADE : Above 80 70-79.99 60-69.99	SEM-I : 8.60 ; SEM-II : 8.60 ; SEM-III : 9.55 ; SEM-IV : 7.95 GHULE GAURAV PRAKASH PRITI 74 74 88 100 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 4 40 100 10 0 SEM-I : 6.40 ; SEM-II : 6.80 ; SEM-III : 9.85 ; SEM-IV : 8.50 GIJAM AMEY EKNATH ANKITA 78 70 74 98 10 0 3 30 78@2 10 0 3 30 70 9 A+ 4 36 74 9 A+ 4 36 98 10 0 SEM-I : 7.70 ; SEM-II : 7.85 ; SEM-III : 10.00 ; SEM-IV : 8.85 GODSE GEETANJALI SUBHASH RAJASHREE (2019016400991895) 72 68 66 74 9 A+ 3 27 72 9 A+ 3 27 68 8 A 4 32 66 8 A 4 32 74 9 A+ SEM-I : 5.80 ; SEM-II : 6.70 ; SEM-III : 9.40 ; SEM-IV : 8.05 CO.5042A/O.5043A/O.5044A; *:O.5045A; /:FEMALE; AA/ABS: ABSENT; P: PASSES; F: FAIL; 70%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWARD; S: GRADE CARRIED FORWARD; RCC: O. ED; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE POINTS; GFA: GRADE POINT : Above 80 70-79.99 60-69 99 55-50 00 50 50 60 50 60 60 60 60 60 60 60 60 60 60 60 60 60	SEM-I : 8.60 ; SEM-II : 8.60 ; SEM-III : 9.55 ; SEM-IV : 7.95 ; GHULE GAURAV PRAKASH PRITI 74 74 74 88 100 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 4 40 100 10 0 3 30 SEM-I : 6.40 ; SEM-II : 6.80 ; SEM-III : 9.85 ; SEM-IV : 8.50 ; GIJAM AMEY EKNATH ANKITA 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 78 70 74 78 70 74 78 78 70 74 78 78 70 74 78 78 70 74 78 78 70 74 78 78 70 74 78 78 70 74 74 78 78 70 74 74 75 76 76 76 76 76 76 77 78 78 78	SEM-I: 8.60; SEM-II: 8.60; SEM-III: 9.55; SEM-IV: 7.95; SEM GHULE GAURAV PRAKASH PRITI 74 74 74 88 100 96 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 4 40 100 10 0 3 30 96 SEM-I: 6.40; SEM-II: 6.80; SEM-III: 9.85; SEM-IV: 8.50; SEM GIJAM AMEY EKNATH ANKITA 78 70 74 98 96 10 0 3 30 78@2 10 0 3 30 70 9 A+ 4 36 74 9 A+ 4 36 98 10 0 3 30 96 SEM-I: 7.70; SEM-II: 7.85; SEM-III: 10.00; SEM-IV: 8.85; SEM GODSE GEETANJALI SUBHASH RAJASHREE (2019016400991895) 72 68 66 74 88 SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM CO.5042A/O.5043A/O.5044A; *:O.5045A; /:FEMALE; AA/ABS: ABSENT; P: PASSES; F: FAIL; E: EXMP 70%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWARD; \$: GRADE FORWARD; RCC: O.5050; RPV BD; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE FORWARD; RCC: O.5050; RPV 2DC; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE FORWARD; RCC: O.5050; RPV 2DC; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE FORWARD; RCC: O.5050; RPV 2DC; ADOVE 80 70-79.99 60-69.99	SEM-I: 8.60; SEM-II: 8.60; SEM-III: 9.55; SEM-IV: 7.95; SEM-V: GHULE GAURAV PRAKASH PRITI 74 74 74 88 100 96 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 4 40 100 10 0 3 30 96 10 SEM-I: 6.40; SEM-II: 6.80; SEM-III: 9.85; SEM-IV: 8.50; SEM-V: GIJAM AMEY EKNATH ANKITA 78 70 74 98 96 10 0 3 30 7882 10 0 3 30 70 9 A+ 4 36 74 9 A+ 4 36 98 10 0 3 30 96 10 SEM-I: 7.70; SEM-II: 7.85; SEM-III: 10.00; SEM-IV: 8.85; SEM-V: GODSE GEETANJALI SUBHASH RAJASHREE (2019016400991895) 86 72 68 66 74 88 9 A+ 3 27 72 9 A+ 3 27 68 8 A 4 32 66 8 A 4 32 74 9 A+ 3 27 88 10 6 SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: C.5.5042A/O.5043A/O.5044A; *:0.5045A; /:FEMALE; AA/ABS: ABSENT; P: PASSES; F: FAIL; E: EXMP CAN IN TO%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWARD; S: GRADE CARRIED FORWARD; RCC: O.5050; RPV: PROBED; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE CARRIED FORWARD; RCC: O.5050; RPV: PROBED; ADC: ADMISSION CANCELLED; C: CREDIT POINTS; G: GRADE FOINTS; GPA: GRADE POINT AVERAGE=SUM OIL: Above 80 707-79.99 60-69 60-69 60	SEM-I: 8.60; SEM-II: 8.60; SEM-III: 9.55; SEM-IV: 7.95; SEM-V: 8. GHULE GAURAV PRAKASH PRITI 74 74 74 88 100 96 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 4 40 100 10 0 3 30 96 10 0 SEM-I: 6.40; SEM-II: 6.80; SEM-III: 9.85; SEM-IV: 8.50; SEM-V: 9. GIJAM AMEY EKNATH ANKITA 78 70 74 98 96 10 0 3 30 7882 10 0 3 30 70 9 A+ 4 36 74 9 A+ 4 36 98 10 0 3 30 96 10 0 SEM-I: 7.70; SEM-II: 7.85; SEM-III: 10.00; SEM-IV: 8.85; SEM-V: 9. GODSE GEETANJALI SUBHASH RAJASHREE (2019016400991895) 86 ISM 72 9 A+ 3 27 72 9 A+ 3 27 68 8 A 4 32 66 8 A 4 32 74 9 A+ 3 27 88 10 0 SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-II: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-II: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-II: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-II: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-II: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-II: 5.80; SEM-III: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-II: 5.80; SEM-III: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-II: 5.80; SEM-III: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-II: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8. C. SEM-II: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8. C. SEM-II: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8. C. SEM-II: 5.80; SEM-II:	SEM-I: 8.60; SEM-II: 8.60; SEM-III: 9.55; SEM-IV: 7.95; SEM-V: 8.85; GHULE GAURAV PRAKASH PRITI 74 74 74 74 74 74 74 74 74 7	SEM-I: 8.60; SEM-II: 8.60; SEM-III: 9.55; SEM-IV: 7.95; SEM-V: 8.85; CC GHULE GAURAV PRAKASH PRITI 74 74 88 100 96 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 4 40 100 10 0 3 30 96 10 0 3 30 20 SEM-I: 6.40; SEM-II: 6.80; SEM-III: 9.85; SEM-IV: 8.50; SEM-V: 9.50; CC GIJAM AMEY EKNATH ANKITA 78 70 74 78 70 74 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 70 74 78 78 70 74 78 78 70 74 78 78 70 74 78 78 70 74 78 78 70 74 78 78 70 74 78 78 70 74 78 78 70 74 78 78 70 78 70 78 70 78 70 86 SEM-II: 10.00; SEM-IV: 8.85; SEM-V: 9.60; CG GODSE GEETANJALI SUBHASH RAJASHREE 72 68 66 74 88 78 79 74 78 74 78 75 76 76 78 76 78 78 79 79 70 70 70 70 70 70 70 70	SEM-I: 8.60; SEM-II: 8.60; SEM-III: 9.55; SEM-IV: 7.95; SEM-V: 8.85; CGPI: GHULE GAURAV PRAKASH PRITI 74 74 74 88 100 96 P 10 0 3 30 74 9 A+ 3 27 74 9 A+ 4 36 88 10 0 4 40 100 10 0 3 30 96 10 0 3 30 20 193 SEM-I: 6.40; SEM-II: 6.80; SEM-III: 9.85; SEM-IV: 8.50; SEM-V: 9.50; CGPI: GIJAM AMEY EKNATH ANKITA 78 70 74 74 86 100 98 96 100 98 96 100 300 300 300 300 300 300 30	GIJAM AMEY EKNATH ANKITA 78 70 74 98 96 P 10 0 3 30 78@2 10 0 3 30 70 9 A+ 4 36 74 9 A+ 4 36 98 10 0 3 30 96 10 0 3 30 20 192 9.60 SEM-I: 7.70; SEM-II: 7.85; SEM-III: 10.00; SEM-IV: 8.85; SEM-V: 9.60; CGPI: 8.93 GODSE GEETANJALI SUBHASH RAJASHREE (2019016400991895) 86 Ismail Yusuf Arts Science 72 68 66 74 88 P 9 A+ 3 27 72 9 A+ 3 27 68 8 A 4 32 66 8 A 4 32 74 9 A+ 3 27 88 10 0 3 30 20 175 8.75 SEM-I: 5.80; SEM-II: 6.70; SEM-III: 9.40; SEM-IV: 8.05; SEM-V: 8.65; CGPI: 7.89 :0.5042A/O.5043A/O.5044A; *:O.5045A; /:FEMALE; AA/ABS: ABSENT; P: PASSES; F: FAIL; E: EXMP CAN BE CLAIMED; 50%-5.38; 55%-70%-8.14; ~: Dyslexia; +: MARKS CARRIED FORWARD; S: GRADE CAPPLED FORWARD; P. CAPPLED FORWARD; P. CAPPLED FORWARD; P. CAPPLED FORWARD; S. GRADE CAPPLED FORWARD; P. CAPPLED FORWARD; P. CAPPLED FORWARD; P. CAPPLED FORWARD; S. GRADE CAPPLED FORWARD; P. CAPPLED FORW





PRINCIPAL ISMAIL YUSUF SENIOR COLLEGE

GOVT OF MAHARASHTRAS ISMAIL YUSUF OLLEGE OF ARTS SCIENCE COMMERCE JOGESHWARI EAST MUMBAI , , MUMBAI-

Date: 15-Jul-2022

e-Receipt for State Bank Collect Payment

SBCollect Reference Number

DUJ3781607

Category

BONAFIED NOC AND T C FEES

FIRST NAME

Amey

MIDDLE NAME

Eknath

LAST NAME

Gijam

DATE OF BIRTH

31/8/2000

GENDER

MALE

CATEGORY

OBC

MOBILE NO

9082444231

COURSE

M.com

BONAFIED FEES, NOC FEES, T C FEES

100

Transaction charge

0.00

Total Amount (in Figures)



100.00

Total Amount (in Words)

Rupees One Hundred Only

Remarks

Transfer Certificate

Notification 1

BONAFIED FEES 20, NOC FEES 20, T C FEES 100

Notification 2

PRINT COPY AND SUBMIT TO COLLEGE

Print Close

